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�, # 5-10 

<8=. 



 �865 C:070=K 
7=0G5=8O 
?@>872>4=>9 2 
40==KE B>G:0E. 
�>;L7COAL 
3@0D8:><, 
?>AB02LB5 2 
A>>B25BAB285 
:064>9 B>G:5 
7=0G5=85 
?@>872>4=>9. 

     

45 �0 @8AC=:5 
87>1@065=K 3@0D8: 
DC=:F88 8 
:0A0B5;L=K5, 
?@>254ё==K5 : 
=5<C 2 B>G:0E A 
01AF8AA0<8 A, B, C 

 

 

 

 

8 D. 

 

� ?@02>< AB>;1F5 
C:070=K 7=0G5=8O 
?@>872>4=>9 
DC=:F88 2 B>G:0E 
A, B, C 8 D. 

�>;L7COAL 
3@0D8:><, 
?>AB02LB5 2 
A>>B25BAB285 
:064>9 B>G:5 
7=0G5=85 
?@>872>4=>9 
DC=:F88 2 =59. 

"�Ч�� 

A 

B 

C 

D 

 

���Ч���/ 
� �������� 
� 

1) 2 4 

2) 0,2 

3) 2 0,2 

4) 1,5 

�� 1 

�� 2 

�� 1.3 

�� 1.4 

�� 1.5 

�� 1.7 

�� 1.10 

�� 2.3 

�� 2.10 

�, # 5-10 

<8=. 

 

5. �F9ABGAO9 @4F9D<4?O 8?O CDB6989A<O F9>Gщ97B >BAFDB?O < CDB@9:GFBGAB= 

4FF9EF4F<< BF>DOFB7B F<C4. 
 

 

 

№ 
?/ 
? 

"5:AB 7040=8O �0@80 
=BK 
>B25B> 
2 

�>4 :><?5B5=F88 (8=48:0B>@0) �>4 
?;0=8@C5< 
KE 
@57C;LB0B>2 
>1CG5=8O 

�@5 
<O 
2K? 
>;=5 
=8O 



     ?> 
48AF8?;8=5 

(<8 
=.) 

"8? 7040=8O: 7040=85 >B:@KB>3> B8?0 A @0725@=CBK< >B25B>< 

�=AB@C:F8O: ?@>G8B09B5 B5:AB 8 70?8H8B5 @0725@=CBK9 >1>A=>20==K9 >B25B 
1. �0948B5 

?@>872545=85 
<0B@8F � = 

( 
1 0 3 

) 8 −2 1 −4 
2 0 

� = (−2 4 ). 

1 −1 

- �� 1 

�� 2 

�� 1.3 

�� 1.4 

�� 1.5 

�� 1.7 

�� 1.10 

�� 2.3 

�� 2.10 

�, # 3-5 

<8=. 

2 �0=K <0B@8FK 
� =  

4 −2  8 
( ) 

0 1 
<0B@8F0 � = 

1 3 
( ). 

2 −6 
�0948B5 
?@>872545=85 
<0B@8F �� 8 
�� 

- �� 1 

�� 2 

�� 1.3 

�� 1.4 

�� 1.5 

�� 1.7 

�� 1.10 

�� 2.3 

�� 2.10 

�, # 3-5 

<8=. 

3 �0948B5 
>1@0B=CN 
<0B@8FC : 
<0B@8F5 � = 

2 −2 
( ) 

4 0 

- �� 1 

�� 2 

�� 1.3 

�� 1.4 

�� 1.5 

�� 1.7 

�� 1.10 

�� 2.3 

�� 2.10 

�, # 3-5 

<8=. 

4  5H8B5 A8AB5<C 
C@02=5=89 
<5B>4>< 
�@0<5@0 þ − 3ÿ = 8 

{−2ý + 2þ + 2ÿ 

4ý − 6þ + 4ÿ = 

- �� 1 

�� 2 

�� 1.3 

�� 1.4 

�� 1.5 

�� 1.7 

�� 1.10 

�� 2.3 

�� 2.10 

�, # 3-5 

<8=. 

5 �0:>9 
@07<5@=>AB8 

- �� 1 
�� 2 

�, # 3-5 
<8=. 



 1C45B <0B@8F0 
! = �∙�", 5A;8 
<0B@8F0 A3×3= 

2 0 −1 
( 5 7 2 ), −2 1 0 
0 <0B@8F0 �2×3 
= ( 

2 1 7 −4 0 
)
 1 

 �� 1.3 

�� 1.4 

�� 1.5 

�� 1.7 

�� 1.10 

�� 2.3 

�� 2.10 

  

6 $C=:F8O, C 
:>B>@>9 >1;0ABL 
>?@545;5=8O 
A8<<5B@8G=0 
>B=>A8B5;L=> 
>A8 >@48=0B 8 
4;O ;N1>3> E 87 
>1;0AB8 
>?@545;5=8O 
A?@0254;82> 
@025=AB2> f(-x) 
= f(x): 

- �� 1 

�� 2 

�� 1.3 

�� 1.4 

�� 1.5 

�� 1.7 

�� 1.10 

�� 2.3 

�� 2.10 

�, # 3-5 

<8=. 

7 �@028;>, A 
?><>ILN 
:>B>@>3> ?> 
:064><C 
7=0G5=8N 
=57028A8<>9 
?5@5<5==>9 
<>6=> =09B8 
548=AB25==>5 
7=0G5=85 
?5@5<5==>9 
=07K205BAO: 

- �� 1 

�� 2 

�� 1.3 

�� 1.4 

�� 1.5 

�� 1.7 

�� 1.10 

�� 2.3 

�� 2.10 

�, # 3-5 

<8=. 

8 �0948B5 
7=0G5=85 
DC=:F88 y=2x-5 

?@8 x=-4: 

- �� 1 

�� 2 

�� 1.3 

�� 1.4 

�� 1.5 

�� 1.7 

�� 1.10 

�� 2.3 

�� 2.10 

�, # 3-5 

<8=. 

9 $C=:F8O 7040=0 
D>@<C;>9 C = 
5E + 21. 

- �� 1 

�� 2 
�� 1.3 

�, # 3-5 

<8=. 



 �?@545;8B5 
7=0G5=85 C, 5A;8 
E = -3: 

 �� 1.4 

�� 1.5 

�� 1.7 

�� 1.10 

�� 2.3 

�� 2.10 

  

10 �0948B5 
<=>65AB2> 
7=0G5=89 
DC=:F88 y=√ 
(x-1) 

- �� 1 

�� 2 

�� 1.3 

�� 1.4 

�� 1.5 

�� 1.7 

�� 1.10 

�� 2.3 

�� 2.10 

�, # 3-5 

<8=. 

11 �@545; 
DC=:F88 

 @025= 

- �� 1 

�� 2 

�� 1.3 

�� 1.4 

�� 1.5 

�� 1.7 

�� 1.10 

�� 2.3 

�� 2.10 

�, # 3-5 

<8=. 

12 �@545; 
DC=:F88 

 

@025= 

- �� 1 

�� 2 

�� 1.3 

�� 1.4 

�� 1.5 

�� 1.7 

�� 1.10 

�� 2.3 

�� 2.10. 

�, # 3-5 

<8=. 

13 �KG8A;8B5 
(kx+b)’= 

- �� 1 

�� 2 

�� 1.3 

�� 1.4 

�� 1.5 

�� 1.7 

�� 1.10 

�� 2.3 

�� 2.10 

�, # 3-5 

<8=. 

14 #:068B5 B>G:C 
<0:A8<C<0 
DC=:F88 f(x), 
5A;8 f´ 
(x)=(x+6)(x-4) 

- �� 1 

�� 2 

�� 1.3 

�� 1.4 

�� 1.5 

�� 1.7 

�� 1.10 
�� 2.3 

�, # 3-5 

<8=. 



   �� 2.10   

15 �>=OB85 
48DD5@5=F80;L 
=>3> 
8AG8A;5=8O, 
E0@0:B5@87CNI 
55 A:>@>ABL 
87<5=5=8O 
DC=:F88 2 
40==>9 B>G:5: 

- �� 1 

�� 2 

�� 1.3 

�� 1.4 

�� 1.5 

�� 1.7 

�� 1.10 

�� 2.3 

�� 2.10 

�, # 3-5 

<8=. 

16 �KG8A;8B5 
8=B53@0; 

 

 
 

 

 

 

 

- �� 1 

�� 2 

�� 1.3 

�� 1.4 

�� 1.5 

�� 1.7 

�� 1.10 

�� 2.3 

�� 2.10 

�, # 3-5 

<8=. 

17 �KG8A;8B5 
 

 
 

 

 

 

 

- �� 1 

�� 2 

�� 1.3 

�� 1.4 

�� 1.5 

�� 1.7 

�� 1.10 

�� 2.3 

�� 2.10 

�, # 3-5 

<8=. 

18 �0: =07K205BAO 
D83C@0 
87>1@065==0O 
=0 @8AC=:5 

 

- �� 1 

�� 2 

�� 1.3 

�� 1.4 

�� 1.5 

�� 1.7 

�� 1.10 

�� 2.3 

�� 2.10 

�, # 3-5 

<8=. 

19 �0948B5 
?5@2>>1@07=CN 
DC=:F88 

 

 

, 3@0D8: 
:>B>@>9 
?@>E>48B G5@57 
B>G:C �(3;-2) 

- �� 1 

�� 2 

�� 1.3 

�� 1.4 

�� 1.5 

�� 1.7 

�� 1.10 

�� 2.3 

�� 2.10 

�, # 3-5 

<8=. 

20 �AL :0:>9 
:>>@48=0BK 
=07K20NB 

- �� 1 

�� 2 
�� 1.3 

�, # 3-5 

<8=. 



 459AB28B5;L=>9 
>ALN 

 �� 1.4 

�� 1.5 

�� 1.7 

�� 1.10 

�� 2.3 

�� 2.10 

  

21  57C;LB0B>< 
?@>872545=8O 
G8A5; (3+6i)(3- 

6i) O2;O5BAO 
G8A;>: 

- �� 1 

�� 2 

�� 1.3 

�� 1.4 

�� 1.5 

�� 1.7 

�� 1.10 

�� 2.3 

�� 2.10 

�, # 3-5 

<8=. 

22 Ч5<C @02=0 i: - �� 1 

�� 2 

�� 1.3 

�� 1.4 

�� 1.5 

�� 1.7 

�� 1.10 

�� 2.3 

�� 2.10 

�, # 3-5 

<8=. 

23 Ч5<C @02=0 
AC<<0 8 
?@>872545=85 
42CE 
A>?@O65==KE 
G8A5; 

- �� 1 

�� 2 

�� 1.3 

�� 1.4 

�� 1.5 

�� 1.7 

�� 1.10 

�� 2.3 

�� 2.10 

�, # 3-5 

<8=. 

24 �0:>9 1C:2>9 
>1>7=0G05BAO 
<=>65AB2> 
459AB28B5;L=KE 
G8A5;: 

- �� 1 

�� 2 

�� 1.3 

�� 1.4 

�� 1.5 

�� 1.7 

�� 1.10 

�� 2.3 

�� 2.10 

�, # 3-5 

<8=. 



      

25 �B> 225; 
>1>7=0G5=85 i 
4;O <=8<>9 
548=8FK: 

- �� 1 

�� 2 

�� 1.3 

�� 1.4 

�� 1.5 

�� 1.7 

�� 1.10 

�� 2.3 

�� 2.10 

�, # 3-5 

<8=. 

26 �K?CI5=> 100 

;>B5@59=KE 
18;5B>2, 
?@8G5< 
CAB0=>2;5=K 
?@87K, 87 
:>B>@KE 8 ?> 1 

@C1., 2 4 ?> 5 

@C1. 8 1 4 10 

@C1. �0948B5 
25@>OB=>AB8 p0 

(18;5B =5 
2K83@0;), p1 
(18;5B 2K83@0; 
1 @C1.), p5 
(18;5B 2K83@0; 
5 @C1.) 8 p10 
(18;5B 2K83@0; 
10 @C1.) 
A>1KB89: 

- �� 1 

�� 2 

�� 1.3 

�� 1.4 

�� 1.5 

�� 1.7 

�� 1.10 

�� 2.3 

�� 2.10 

�, # 3-5 

<8=. 

27 !B@5;>: 
?>?0405B 2 F5;L 
2 A@54=5< 2 8 
A;CG0OE 87 10. 
�0948B5 
25@>OB=>ABL, 
GB>, A45;02 B@8 
2KAB@5;0, >= 
420 @070 
?>?045B: 

- �� 1 

�� 2 

�� 1.3 

�� 1.4 

�� 1.5 

�� 1.7 

�� 1.10 

�� 2.3 

�� 2.10 

�, # 3-5 

<8=. 

28 !>1KB8O A 8 B 

=07K20NBAO 

- �� 1 
�� 2 

�, # 3-5 
<8=. 



 =5A>2<5AB=K<8, 
5A;8: 

 �� 1.3 

�� 1.4 

�� 1.5 

�� 1.7 

�� 1.10 

�� 2.3 

�� 2.10 

  

29 ЧB> ?@>8AE>48B 
A A@54=8< 
0@8D<5B8G5A:8 
<, :>340 
C25;8G820NBAO 
2A5 7=0G5=8O 
?@87=0:0 2 420 
@070? 

- �� 1 

�� 2 

�� 1.3 

�� 1.4 

�� 1.5 

�� 1.7 

�� 1.10 

�� 2.3 

�� 2.10 

�, # 3-5 

<8=. 

30 �5480=0 -& - �� 1 

�� 2 

�� 1.3 

�� 1.4 

�� 1.5 

�� 1.7 

�� 1.10 

�� 2.3 

�� 2.10 

�, # 3-5 

<8=. 

 

6. �F9ABGAO9 @4F9D<4?O 8?O CDB6989A<O F9>Gщ97B >BAFDB?O < CDB@9:GFBGAB= 
4FF9EF4F<<. КB@5<A<DB64AAO9 ;484A<O. 



№ 
?/ 
? 

"5:AB 7040=8O �0@80=BK 
>B25B>2 

�>4 :><?5B5=F88 (8=48:0B>@0) �>4 
?;0=8@C 
5<KE 
@57C;LB0 
B>2 
>1CG5=8 
O ?> 
48AF8?; 
8=5 

�@5 
<O 
2K? 
>;=5 
=8O 
(<8 
=.) 

"8? 7040=8O: 7040=85 :><18=8@>20==>3> B8?0 A 2K1>@>< >4=>3> 25@=>3> 
>B25B0 87 G5BK@5E ?@54;>65==KE 8 >1>A=>20=85< 2K1>@0 

�=AB@C:F8O: ?@>G8B09B5 B5:AB, 2K15@8B5 ?@028;L=K9 >B25B 8 70?8H8B5 0@3C<5=BK, 
>1>A=>2K20NI85 2K1>@ >B25B0 
1. �0948B5 

?@>872545=85 
<0B@8F � = 

( 
1 0 3 

) 8 −2 1 −4 
2 0 

� = (−2 4 ). 

1 −1 

1. ( 
5 −3 −10 8 

)
 

2. ( 
5 −3 −1 8 

)
 

3. ( 
5 −3 −10 80 

)
 

4. ( 
0 −3 −10 8 

)
 

�� 1 
�� 2 
�� 1.3 
�� 1.4 
�� 1.5 
�� 1.7 
�� 1.10 
�� 2.3 
�� 2.10 

�, # 3-5 
  <8=. 
   

   

   

   

   

   

   

2. �0948B5 
>1@0B=CN 
<0B@8FC : 
<0B@8F5 � = 

2 −2 
( ) 

4 0 

1.�’ = 

(  
4 0,25

)
 

�� 1 

�� 2 

�� 1.3 

�� 1.4 

�� 1.5 

�� 1.7 

�� 1.10 

�� 2.3 

�� 2.10 

�, # 3-5 
<8=. 

 −0,5 0,25   

 2.�’ =   

 
(  

0 0,25
)
   

 −0,5 0,25   

 3.�’ =   

 
(  

0 2 
)
   

 −0,5 0,25   

 4.�’ =   

 
(  

0 0,25
)
   

 −0,5 4   

3.  5H8B5 A8AB5<C 1.x = 9, y = 65, z = �� 1 
�� 2 
�� 1.3 
�� 1.4 
�� 1.5 
�� 1.7 
�� 1.10 
�� 2.3 
�� 2.10 

�, # 3-5 
 C@02=5=89 19  <8=. 
 <5B>4>< 2.x = 79, y = 5, z =   

 �@0<5@0 19   

 þ − 3ÿ = 8 3.x = 79, y = 65, z =   

 {−2ý + 2þ + 2ÿ 19   

 4ý − 6þ + 4ÿ = 4.x = 79, y = 65, z =   

  9   

     

4. �0:>9 
@07<5@=>AB8 
1C45B <0B@8F0 
! = �∙�", 5A;8 
<0B@8F0 A3×3= 

2 0 −1 
( 5 7 2 ), −2 1 0 
0 <0B@8F0 �2×3 

1.3E2 �� 1 
�� 2 
�� 1.3 
�� 1.4 
�� 1.5 
�� 1.7 
�� 1.10 
�� 2.3 
�� 2.10 

�, # 3-5 
 2.2E2  <8=. 
 3.3E4   

 4.4E2   

    

    

    

    

    



 = ( 2 1 7      
    

    

5. $C=:F8O, C 1. G5B=0O DC=:F8O �� 1 
�� 2 
�� 1.3 
�� 1.4 
�� 1.5 
�� 1.7 
�� 1.10 
�� 2.3 
�� 2.10 

�, # 3-5 
 :>B>@>9 >1;0ABL 2. =5G5B=0O  <8=. 
 >?@545;5=8O DC=:F8O   

 A8<<5B@8G=0 3.=8 G5B=0O =8   

 >B=>A8B5;L=> =5G5B=0O DC=:F8O   

 >A8 >@48=0B 8 4.8 G5B=0O 8   

 4;O ;N1>3> E 87 =5G5B=0O DC=:F8O   

 >1;0AB8    

 >?@545;5=8O    

 A?@0254;82>    

 @025=AB2> f(-x)    

 = f(x):    

"8? 7040=8O: 7040=85 :><18=8@>20==>3> B8?0 A 2K1>@>< =5A:>;L:8E 20@80=B>2 >B25B0 87 
?@54;>65==KE 8 @0725@=CBK< >1>A=>20=85< 2K1>@0 

�=AB@C:F8O: ?@>G8B09B5 B5:AB, 2K15@8B5 ?@028;L=K5 >B25BK 8 70?8H8B5 0@3C<5=BK, 
>1>A=>2K20NI85 2K1>@ >B25B>2 
6. �0 @8AC=:5 "�Ч�� 

�) K 

�) L 

 

�) M 

 

�) N 

 

���Ч��� 
/ 
� ����� 
���� 

 

 

1) 

 

2) 2 

 

 

3) 

 

 

4) 

�� 1 
�� 2 
�� 1.3 
�� 1.4 
�� 1.5 
�� 1.7 
�� 1.10 
�� 2.3 
�� 2.10 

�, # 5-10 
 87>1@06ё=  <8=. 
 3@0D8: DC=:F88,   

 : :>B>@><C   

 ?@>2545=K   

 :0A0B5;L=K5 2   

 G5BK@ёE B>G:0E.   

    

    

      

 

 

    

 
 

�865 C:070=K 

    

 7=0G5=8O     

 ?@>872>4=>9 2     

 40==KE B>G:0E.     

 �>;L7COAL     

 3@0D8:><,     

 ?>AB02LB5 2     

 A>>B25BAB285     

 :064>9 B>G:5     

 7=0G5=85     

 ?@>872>4=>9 2     

 =59.     

7. �0 @8AC=:5 
87>1@06ё= 
3@0D8: DC=:F88, 
: :>B>@><C 

"�Ч�� 

 

�) K 

�� 1 

�� 2 

�� 1.3 
�� 1.4 

�, # 5-10 

<8=. 



 ?@>2545=K �) L �� 1.5   
:0A0B5;L=K5 2  �� 1.7 

G5BK@ёE B>G:0E. �) M �� 1.10 
  �� 2.3 
 �) N �� 2.10 
   

 

���Ч��� 
/ 
� ����� 
���� 

 

 
1) 24 

 

�865 C:070=K 
7=0G5=8O 

2) 3 
 

?@>872>4=>9 2 
40==KE B>G:0E. 
�>;L7COAL 

 

3) 

 

3@0D8:><, 
?>AB02LB5 2 4) 20,5 

 

A>>B25BAB285   

:064>9 B>G:5   

7=0G5=85   

?@>872>4=>9 2   

=59.   

8. �0 @8AC=:5 "�Ч�� 

�) K 

�) L 

 

�) M 

 

�) N 

 

���Ч��� 
/ 
� ����� 
���� 

 

1) -2/15 

 

2) 2 

 

3) 5/13 

 

4) -17/15 

�� 1 �, # 5-10 
 87>1@06ё= �� 2  <8=. 
 3@0D8: DC=:F88, �� 1.3   

 : :>B>@><C �� 1.4   

 ?@>2545=K �� 1.5   

 :0A0B5;L=K5 2 �� 1.7   

 G5BK@ёE B>G:0E. �� 1.10   

  �� 2.3   

 

 

�� 2.10   

 
�865 C:070=K 

   

 7=0G5=8O    

 ?@>872>4=>9 2    

 40==KE B>G:0E.    

 �>;L7COAL    

 3@0D8:><,    

 ?>AB02LB5 2    

 A>>B25BAB285    

 :064>9 B>G:5    

 7=0G5=85    

 ?@>872>4=>9 2    



 =59.      

9. �0 @8AC=:5 "�Ч�� 

�) A 

�) B 

 

�) C 

 

�) D 

 

���Ч��� 
� 
� ����� 
���� 

 

1) 24 

 

2) 0,2 

 

3) 20,2 

 

4) 1,5 

�� 1 
�� 2 
�� 1.3 
�� 1.4 

�� 1.5 

�� 1.7 

�� 1.10 

�� 2.3 
�� 2.10 

�, # 5-10 
 87>1@06ё=  <8=. 
 3@0D8: DC=:F88   

 : 
:>B>@><C 
?@>2545=K 
:0A0B5;L=K5 2 
G5BK@ёE B>G:0E. 

  

 
 

 

    

 �865 C:070=K 
    

 7=0G5=8O     

 ?@>872>4=>9 2     

 40==KE B>G:0E.     

 �>;L7COAL     

 3@0D8:><,     

 ?>AB02LB5 2     

 A>>B25BAB285     

 :064>9 B>G:5     

 7=0G5=85     

 ?@>872>4=>9.     

10. �0 @8AC=:5 "�Ч�� 

 

A 

B 

C 

D 

���Ч��� 
/ 
� ����� 
���� 

 

1) 2 4 

 

2) 0,2 

 

3) 2 0,2 

�� 1 
�� 2 
�� 1.3 
�� 1.4 
�� 1.5 
�� 1.7 
�� 1.10 
�� 2.3 
�� 2.10 

�, # 5-10 
 87>1@065=K  <8=. 
 3@0D8: DC=:F88   

 8 :0A0B5;L=K5,   

 ?@>254ё==K5 :   

 =5<C 2 B>G:0E A   

 01AF8AA0<8 A, B,   
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